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QUESTION 1

Which stage in the waterfall model is considered as several separate stages in the V model? 

A. Development. 

B. Analysis. 

C. Testing. 

D. Design. 

Correct Answer: C 

 

QUESTION 2

During which stage of the Business Analysis Process Model would a gap analysis be carried out? 

A. Define requirements. 

B. Analyse needs. 

C. Evaluate the options. 

D. Investigate situation. 

Correct Answer: B 

 

QUESTION 3

A company holds information about 1000 customers. It receives, on average, 50 orders per day. Each order must be
placed by only one customer. Customers must have placed at least one order but may place several. An analyst has
shown an association between the classes Customer and Order. What multiplicities should she show at the Order end
of this association? 

A. 0 .. *. 

B. 1.*. 

C. 0 .. 50. 

D. 1..1000. 

Correct Answer: B 

 

QUESTION 4

What does the 0\\' stand for in the CATVVOE analysis? 



A. The objectives of the business system under review. 

B. Theopportunities for change in the business system under review. 

C. The organization of the business system under review. 

D. The owner of the business system under review. 

Correct Answer: D 

 

QUESTION 5

One of the claimed advantages of buying a software package is that it is possible to predict future maintenance costs
with some certainty. How would these costs be classified in a cost-benefit analysis? 

A. As an intangible cost. 

B. As a tangible benefit. 

C. As a tangible cost. 

D. an intangible benefit. 

Correct Answer: C 

 

QUESTION 6

It is unclear to a project sponsor why a particular requirement has been included in a recently released version of a
system. Which of the following will allow him to identify who originally asked for the requirement? 

A. The validation of the requirement. 

B. The source of the requirement. 

C. The resolution of the requirement. 

D. The justification of the requirement. 

Correct Answer: B 

 

QUESTION 7

Which of the following is likely to be an input into the Analysing the Needs\\' stage of the business analysis process
model? 

A. Shortlist of business options. 

B. Validated requirements document. 

C. The business case. 



D. Agreed business activity model 

Correct Answer: D 

 

QUESTION 8

Which of the following may be used to document the outcomes of a workshop? 

A. Mind maps. 

B. Brainwriting. 

C. Roundrobin. 

D. Stepwise refinement. 

Correct Answer: A 

 

QUESTION 9

A use case Place Order must always invoke a related use case Check Credit. How is the association between the two
use cases shown? 

A. By a solid line with no arrowhead or stereotype. 

B. By a broken, arrowed line stereotyped with the word ?xtend? 

C. By a broken, arrowed line stereotyped with the word ?andgt;include? 

D. By a broken, arrowed line stereotyped with the word ?nclude? 

Correct Answer: D 

 

QUESTION 10

An airline wishes to assess the punctuality of its flights. What type of business activity would do this? 

A. An enabling activity. 

B. A controlling activity. 

C. A planning activity. 

D. A monitoring activity. 

Correct Answer: D 

 

QUESTION 11



In a business activity model, which of the following type of activities respond to deviations between actual and planned
performance? 

A. Monitoring activities. 

B. Doing activities. 

C. Controlling activities. 

D. Planning activities. 

Correct Answer: C 

 

QUESTION 12

Which investigation technique is supported by use case\\' descriptions? 

A. Scenario Analysis. 

B. Questionnaires. 

C. Document Analysis. 

D. Interviewing. 

Correct Answer: A 
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